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1. Transfer of heat by convection can take place in
Hag gRT ST BT RIFTIRI 8l IHdl §

(a) Solids and I|qU|ds/3ﬁ'\q \’rﬁTT‘IWtIET’lf Mechanisms o Heat Transfor
(b) Solids and vacuum GﬁTﬁﬁh
(c) Gases and liquids F 3R AR Qf
(d) Vacuum and gases/a?\'{q Gﬁ?"ﬁ'\ﬁ
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2. A liquid remains hot or cold for a long time in thermos
flask because there is no loss or gain of heat by

YHY AP H TH e dd JHY db TH T 38T 3gdl

%aﬂ%sﬂﬁnﬁmaﬁéaﬂﬁmmﬂ{ﬁ@m%
(a) Conduction/Ydligdh~d

(b) Convection and radiationddg- 3R fafezor
(c) Both (a) and (b)/(a) 3Mi¥ (b) SIFI

(d) None of the above/ﬁﬁﬁﬁ% Wi T-Ié)f
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3. Steam at 100°C causes more severe burns than the water at
the same temperature, because :

100°cwmwmmwu1=ﬁaﬁ§amﬁammﬂv
ST UGT HRdl 8, FiTb: -,

(a) Steam is a gas/‘l-l'l'qWﬁ'\q% 230

(b) Steam provides more heat i q \

(c) Steam is highly combustible ( % % - xwﬁ;_
YT SAfed saa-T=ie gidl @ = e
(d) Steam exerts more pressureHT4 arf‘wmaa'cﬁ%
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4. The heat required in calories to convert one gram ice
at 0° C to steam at 100° C is approximately

0°C UR U UTH 91 &l 100°C YR HTY H g+ & fow
%ﬁ'\ﬁﬁmmmﬂeﬁ?ﬁ%

(a) 80 (b) 336
(c) 720 (d) 620
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5. At what temperature are the reading of a Centigrade
and Fahrenheit thermometer the same?

mmﬁwﬁzﬂ%aﬁvmﬁz yHTHeY oI
ST IHE Bl 82
(a) - 40 (b) 212
(c) 40 (d) 100
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6. At what point the Fahrenheit temperature is
double of centigrade temperature?

foq fig Uy wvETs e dIUAM HEHIS argH
BT ST gidl 872

(a) -6.7°C (b) -12.3°C
(c) 12.3°C (d) 160°C
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7. The body temperature of a healthy man is-
wwm%wﬁvwmﬂm%
(a) 37° Celsius

(b) 37° Fahrenheit
(c) 98.4° Celsius
(d) 98.4° Kelvin
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e

8. The normal temperature of human body on the
Kelvin scale is —

WWWWWWWW
glar g -

(a) 280 (b) 290
(c) 300 (d) 310

°Ra °Re

Fahrenheit  Kelvin Rankine  Réaumur
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9. The normal temperature of human body is 98.4
equivalent temperature in "C is-

A4 IRR BT ATH d19H1H 98.4 f&ht
AFRITT H dT9H BT 8-
(a) 40.16 (b) 36.89
ELRZ) (d) 32.36
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10. A measured temperature in Fahrenheit scale is
200°F. What will be its value in Celsius scale?

WRAGISC ¥bd A HIUT AT dTYHTH 200°F 8 | ATRad
ﬁnﬁﬁmnﬁwaﬁmv o

(a) 93.3°C
(b) 40°C
(c) 99°C
(d) 30°C

IIIIIIIIIIII

EEEEEEEEEEEEEE
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11. Let the average temperatures in Centigrade (C)
and Fahrenheit (F) be ‘CandF. If C and F are related
to F = 9/5C+32 then F and C have the relation:

@zﬂﬁte: 3R BRAGTSC (F) A T YA C
Gﬁ?F@(ecf)a'lqﬁCGﬁTF%:)'ﬂaﬂF 9/5&325{%r
?ﬁFaﬁTcm'ﬂ‘q’H%

(a)F=EC+32 (b) F = C + 32
(c)Fzgf (d)Fzg(T—BZ
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12. The value of 40 degrees Celsius in Fahrenheit scale is
BRAGTSS UHH H 40 &3t Af}raw +1aM glar 8
(a) 104° F (b) 100° F R LR

(c) 102° F (d) 75° F
(e) None of the above / Karage i Tomp ST {OERH
More than one of the above Eroesing (meltng) point of water

24




SCIENCE BY NIHARIKA RATHORE [USE CODE —Y431 FOR DISCOUNT] Adda

13. In cold countries, alcohol is preferred to mercury as a thermometric liquid
because:

%&gﬁﬁmﬁ%wﬁuﬁﬁmﬁmaﬁmu&lwﬁ
(a) Alcohol has: a lower freezing point/RRTd PI %W Py @?IT %

(b) Alcohol is a better conductor of heat/RARTd Tﬂﬁﬁé@?ﬂ'w %

(c) Alcohol is cheaper than mercury/RTd UR I Ol @T‘ﬂ %

(d) The world production of alcohol is greater than that of mercury

YRS &1 {3y IS U P ger1 A 3P &
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14. Which one of the following is used as an antifreeze
for the automobile engines?

fgfefad A I &1 91 SiicHIasd s94 & fou
GBS & &0 § SUGRT foar SiTdT 82
(a) Ethanol/%'aq'lﬁ

(b) Ethylene gl coI@'Q‘I'I%TﬂT-[ mﬁ
(c) Methanol

Y-Tcd
(d) Propyl aIcohoI/‘JﬁW Glﬁﬁg?[

e
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15. What is absolute zero temperature?
Absolute Zero
(a) The starting point of any temperature scale AN
fBdt ot araaT= o 1 URfYS fag A
(b) Theoretically the lowest possible temperature.
AGifde ¥U H a9 FH AHT dTqqT |
(c) The temperature at which the vapour of any liquid
substance is condensed.

98 a1y o R fodt avd uerd &1 9y SafAd giar g |

(d) The temperature at which all material are in vapour form.

98 dvHH SR R I yerd ars g Su A gld g |
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16. Expansion during heating-

é"é 1% 3=| T fAIR- , Thermal Expansion
(a) Occurs only in solid/31 H g1 gidT 8 Heat

(b) Increases the weight of the material 4}{‘? :
AT 1 o4 9¢TdT & A

(c) Decreases the density of the material| @ @« @

AT & 97cd B HH HIdT &

(d) Occurs at the same rate for all liquids and solids

I R R S ISl & e T R IR eldr e
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17. When ice melts, then-
(a) Volume increases/HIAl dg EIGL Wi W 7 i
(b) Volume decreases/3ITRId- Ycdl o=
(c) Mass increases/SSHIA dadl % BRI 5 A
(d) Mass decreases/SSUHIA W%
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18. The variations in temperature from 0°C to 100°C with respect to time
of two liquids P, Q are shown in the raph_\slven below:

&l aee 2T p, % THY P HaY H 0°C A 100°C TP ATTH &
Wﬁﬁquﬁﬁﬁmw%
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Which of the following statement is correct?
Fafafead I s ITHFUT I8 o2
(a) During heating, liquid P has always warmer than Q.

TH B & R 5d P Hed Q I AU TH AT 2|

(b) At no point of time during heating did the two liquids have the same
temperature.

%ﬂ%{ﬁ%ﬁmw Y J9g ) ae uSTdl BT argHT= JHE T8l
|

(c) Pattained the temperature of 100°C faster than Q.

Bt g1 | 100 FSH ARG & arquq= o1 ot fhani

(d) Q attained the temperature of 100°C faster than P.
Q¥ P ¥ 100°c 3MfYF ol F arqHT= Ut fhar
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19. Thermostat is a device which:

YT Uh SUHRUI g il:

(a) Measures heat/dTU CAR NG %

(b) Measures temperature/dIAHTA HIUT %

(c) Automatically regulates the temperature of a
system

TGATfrd 39 I U YUTTell & d19dT= @i Rt
HIAT g

(d) Automatically regulates pressure of a system

TGATd U ° TP YUITell & gdrd ol a3
Hdl g

e
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(b) Temperature/dIUHIA

(c) Pressure/qdld o
E 0
(d) Heat Radlatlon/TI'lﬁﬁﬁ?_\"UT

| .m MIODE TIMER
| Auto Heat On
R\\\:

e
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21. What is the function of the thermostat of a refrigerator?

IMFEIRe & YHIe e BT 1 T 8?2 e o
(a) To lower the temperature/dIUHIA hH
(b) To increase the freezing point/f%IIW EE'I%[ & f%rq

(c) To maintain constant temperature
AR 9THTE §9TC REH & foe

(d) To decrease the melting point

TP P! HH HIA & g —

=9
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22. The safest temperature for keeping food

fresh in a refrigerator is
Ifpervex o éﬁqaﬁwwﬁ%mm

G INE IR

(a) 4°C YEXe . g o

c)0°C d) 10°C B~ = = =

(c) (d) . @ ” :
S 7Y

e
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